
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8204.7 × 0.01 = ________ 8878.2 × 0.01 = ________

6163.8 × 0.01 = ________ 1620.5 × 0.0001 = ________

9158.7 × 0.0001 = ________ 2960.6 × 0.1 = ________

9978.8 × 0.0001 = ________ 2459.4 × 0.01 = ________

6020.4 × 0.1 = ________ 8423.9 × 0.0001 = ________

3862.1 × 0.1 = ________ 2751.3 × 0.0001 = ________

8711.2 × 0.01 = ________ 2219.5 × 0.0001 = ________

9948.1 × 0.0001 = ________ 7047 × 0.1 = ________

4398.9 × 0.01 = ________ 3456.6 × 0.0001 = ________

4118.5 × 0.1 = ________ 7587.3 × 0.001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8204.7 × 0.01 = 82.047 8878.2 × 0.01 = 88.782

6163.8 × 0.01 = 61.638 1620.5 × 0.0001 = 0.16205

9158.7 × 0.0001 = 0.91587 2960.6 × 0.1 = 296.06

9978.8 × 0.0001 = 0.99788 2459.4 × 0.01 = 24.594

6020.4 × 0.1 = 602.04 8423.9 × 0.0001 = 0.84239

3862.1 × 0.1 = 386.21 2751.3 × 0.0001 = 0.27513

8711.2 × 0.01 = 87.112 2219.5 × 0.0001 = 0.22195

9948.1 × 0.0001 = 0.99481 7047 × 0.1 = 704.7

4398.9 × 0.01 = 43.989 3456.6 × 0.0001 = 0.34566

4118.5 × 0.1 = 411.85 7587.3 × 0.001 = 7.5873
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